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STR Tutorial-1(Solution)
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Solution 5: Case 1:- speed of B with respect to 4 choose speed of 4 along x - axis
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Case 2- speed of A4 with respect to B choose speed of B alongx - axis .
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Solution 6: u_ =u V =v
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Solution 7: (a) The speed of bullet with respect to target is, u, = V_VL; and the bullet have to travel the
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So, time taken by the bullet to hit the target from reference of target is,
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(b) The speed of target with respect to bullet is, u, = l v‘; and the bullet have to travel the
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So, time taken by the bullet to hit the target from reference of bullet is,
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Solution 8: (a) At = L7710 sec 1.3x1077 sec
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Solution 9: The speed of Space ship A with respect to observer attached to earth is 0.6¢ .if #,1s proper
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Solution 10: (a) Speed of train 4 with respectto C is v, :%

Speed of train B with respectto C 1is —%c
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(b) when observer is on B the speed of 4 with respect to B
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